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Q1. With respect to PM CARES for Children Scheme, consider the following scheme. 

1. Ministry of Women and Child Development shall be the nodal Ministry for execution of the 

scheme at the central level. 

2. Each eligible child will be enrolled as a beneficiary under Ayushman Bharat Scheme (PM-

JAY). 

3. Besides Pre-school & School Education, assistance for higher education will also be provided 

to children. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

All those children who lost both parents or the surviving parent or legal guardian/adoptive 

parents/single adoptive parent due to the COVID-19 pandemic starting from 11 March 2020 (the 

date on which WHO declared COVID-19 as pandemic) till 31 December 2021 are eligible to avail the 

benefits of the scheme. 

Second statement is correct: 

Health Insurance:   

Each child will be enrolled as a beneficiary under Ayushman Bharat Scheme (PM-JAY) with a health 

insurance cover of Rs. 5 lakhs. 

 

First statement is correct. 

Ministry of Women and Child Development shall be the nodal Ministry for execution of the 

scheme at the central level. Department of the State/UT government dealing with the Juvenile 

Justice set up in the State shall be the nodal agency at State level. The District Magistrates shall be 

the nodal authority at District level for execution of the scheme. 

Third statement is correct: 

The scheme provides support for education and health and will create a corpus of Rs 10 lakh for 

each child when he or she reaches 18 years of age. This corpus will be used to give a monthly 
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financial support/ stipend form 18 years of age, for the next 5 years to take care of his or her 

personal requirements during the period of higher education and on reaching the age of 23 years, 

he or she will get the corpus amount as one lump-sum for personal and professional use. 

Assistance for Higher Education:  

For higher education, assistance will be provided to the child for obtaining education loan for 

Professional courses /Higher Education in India. Interest for education loan will be paid from PM-

CARES for Children Scheme if the child is unable to avail interest exemption under existent schemes. 

Q2. Hangul Population can be mostly seen in India in: 

a. Valmiki National Park 

b. Mouling National Park 

c. Dachigam National Park 

d. Bandipur National Park 

Solution: c 

Explanation: 

 

In March 2021, a census conducted in Kashmir to estimate the population of the hangul (Kashmir 

stag), showed encouraging initial findings. According to the Department of Wildlife Protection, the 

population of the critically endangered species has registered a marginal increase in the Kashmir 

Valley. It is now 261, compared to 237 recorded in 2019. The small upward trend began in 2015, 

when the Hangul population was 186 and then rose to 197 in 2017. 

Dachigam National Park is the answer to it. It is in Jammu and Kashmir. 

 

Q3. Consider the following statements regarding Global Alliance for Buildings and Construction 

(GlobalABC). 

1. It is a voluntary partnership of national and local governments, inter-governmental 

organisations for zero-emission in construction sector. 

2. GRIHA council - green rating for integrated habitat assessment of India is a member of this 

alliance. 

3. It is hosted by UNFCCC Secretariat. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 2 only 

d. 1, 2 and 3 

Solution: c 
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Explanation: 

News: 

2021 Global Status Report for Buildings and Construction recently published by the UN 

Environment Programme (UNEP)-hosted Global Alliance for Buildings and Construction 

(GlobalABC). 

First and second are correct. 

Launched at the 21st Conference of Parties (COP21), the Global Alliance for Buildings and 

Construction (GlobalABC) is a voluntary partnership of national and local governments, inter-

governmental organisations, businesses, associations, networks and think thanks committed to a 

common vision: A zero-emission, efficient and resilient buildings and construction sector. 

From India, these are the participating members: 

 

It is hosted by UNEP. Third statement is incorrect. 

 

 

Q4. Consider the following Pairs. 

           Conventions/Protocols    Related to 

1. Stockholm Persistent Organic Pollutants 

2. Cartagena  Advance Informed Agreement 

procedures for transfer of 

Living Modified Organisms 
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3. Basel  Prior Informed Consent 

Procedure for Certain 

Hazardous Chemicals in 

International Trade 

 

 Which of the above pairs is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: a 

Explanations: 

           Conventions/Protocols    Related to 

1. Stockholm Persistent Organic Pollutants 

2. Cartagena  Advance Informed Agreement 

procedures for transfer of 

Living Modified Organisms 

3. Rotterdam Prior Informed Consent 

Procedure for Certain 

Hazardous Chemicals in 

International Trade 

4. Basel Control of Transboundary 

Movements of Hazardous 

Wastes and their Disposal 

 

Q5. Consider the following capitals. 

1. Jerusalem (Israel) 

2. Ankara (Turkey) 

3. Damascus (Syria) 

Arrange the above capitals from North to South. 

a. 2-1-3 

b. 2-3-1 

c. 3-2-1 

d. 1-2-3 

Solution: b 

Explanation: 
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To make you clearer, we will provide you latitudes also (approx. only). 

Ankara- 39.9334° N 

Damascus- 33.51-degree N 

Jerusalem-31.76-degree N 

      

Q6. Vaibhashika and Sautrantika belongs to which sect? 

a. Jainism 

b. Buddhism 

c. Vaishnavism 

d. Shaivism 

Solution: b 

Explanation: 

Hinayana was later divided into two sects i.e., Vaibhashika and Sautrantika.  

 

Q7. With reference to the Mathura School of sculpture, consider the following statements: 

1. It was influenced by Buddhism alone. 
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2. The sculptures were made using spotted red sandstone. 

3. It was patronized by the Kushanas. 

Which of the statements given above is/are correct? 

a. 2 and 3 only 

b. 1 and 3 only 

c. 3 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 

Mathura School of Art flourished mainly during the reign of Kushana emperor Kanishka. 

Mathura School had developed indigenously. The Mathura school images include those of 

Buddha, Bodhisattvas, Vishnu, Shiva, Yakshas, Yakshini, Jinas etc. representing religious zeal 

of Brahmanism, Jainism and Buddhism. So, statement (1) is not correct.  

 

The ingredients used in sculptures of Mathura school were made up of spotted red 

sandstone. So, statement (2) is correct.  

During the first century AD, Gandhara and Mathura school of Art flourished mainly during 

the reign of Kushana emperor Kanishka. So, statement (3) is correct.  

Hence, the correct answer is a. 

Q8. Consider the following bodies. 

1. Municipalities 

2. Rajya Sabha 

3. Legislative Council 

4. Lok Sabha 

 Which of the above bodies has/have the provision of reservation of seats for SC/ST? 

a. 2, 3 and 4 only 

b. 4 only 

c. 1, 3 and 4 only 
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d. 1 and 4 only 

Solution: d 

Explanation: 

Article 334 provides that seats should be reserved for SC/STs in Lok Sabha and Vidhan 

Sabhas. This same article also ensures that Anglo-Indians too get representation in these 

bodies. 

 

There’s no reservation for Rajya Sabha and State Legislative Council. 

In Panchayats and Municipalities, there is a provision for reservation of SC/ST. See below 

for Municipalities. 

 

Q9. Consider the following statements.  

1. International Criminal Court is an agency of United Nations established to investigate 

individuals accused of crimes of genocide, war crimes, etc. 

2. India has neither signed nor ratified the Rome Statute of the International Criminal 

Court (ICC). 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanations: 

THE FIRST STATEMENT WILL CREATE PROBLEM ONLY IF YOU DON’T KNOW IT IS UN AGENCY 

OR NOT. 
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The International Criminal Court (ICC) investigates and, where warranted, tries individuals 

charged with the gravest crimes of concern to the international community: genocide, war 

crimes, crimes against humanity and the crime of aggression. 

 
Q10. Consider the following statements. 

1. The procedure for the impeachment of President is mentioned in the Constitution. 

2. The proposal to impeach the President shall be preferred in House only after it is 

signed by not less than one-fourth of total member of the House. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

Do remember, for SC judge, it is not mentioned in the Constitution. 

We will refer here article number 61. Read the articles below before proceeding to next 

question. Both the statements are correct. 
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Q11. Consider the following pairs. 

1. Seemanchal Region: north eastern part of Andhra Pradesh 

2. Ken-Betwa Link Project: Bundelkhand region 

Which of the above pairs is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

We will cover all important region in Daily Quizzes and Test Series together. These are very 

important questions. It’s taking lot of time to find good map so that you people remember 

well.  

AAp log bhi ache se map ko yaad rakho. Kahi na khi it will help directly or indirectly (Please 

carefully read map, it will help you in exam directly or indirectly to reach right answer). 



 

GOALTIDE IAS ACADEMY 10 

 

QUIZ COMPILATIONS – OCTOBER PART 2 

 

 

 

Q12. Consider the following statements. 

1. The Tenth Schedule of the Constitution popularly known as the 'Anti-Defection law' 

seeks to disqualify only elected members of Parliament and State Assembly. 

2. Voluntarily giving up membership of party is a ground for member to be disqualified 

under tenth schedule. 

3. Presiding Officer give up membership of his/her ruling party while deciding a case of 

anti-defection. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 2 only 

d. 1, 2 and 3 
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Solution: c 

Explanation: 

The Constitution doesn't define the term 'defection' but it provides certain grounds under 

which a legislator may be disqualified: 

• Voluntarily giving up membership of party. Second statement is correct. 

• Voting or abstaining from voting in the House, contrary to any direction issues by his 

political party 

• Independent Member joins any party. 

• Nominated Members joins 6 months after taking the oath to become a legislator. 

First statement is incorrect. Only elected members are wrong. 

The biggest criticism that can be leveled against the law is the fact that since the authority 

to decide defection pleas rests with the Presiding Officer of the House, i.e the 

Speaker/Chairman, who is invariably from the ruling party in power, the decisions on 

disqualification pleas are not free from bias. The post of the Presiding Officer is put into a 

spot because the Indian Constitution doesn't require that the Speaker give up 

membership of his/her ruling party. This raises questions over potential bias in the 

decisions taken on disqualification pleas. Third statement is incorrect. 

Q13. ‘Net-Zero Asset Owner Alliance’ convened by: 

a. United Nation Environment Programme 

b. UNFCCC Secretariat 

c. World Economic Forum 

d. UNDP Secretariat 

Solution: a 

Explanation: 

Its UNEP.  

The members of the Alliance commit to transitioning their investment portfolios to net-zero 

GHG emissions by 2050 consistent with a maximum temperature rise of 1.5°C above pre-

industrial temperatures, taking into account the best available scientific knowledge 

including the findings of the IPCC, and regularly reporting on progress, including establishing 

intermediate targets every five years in line with Paris Agreement. 
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Q14. The “Great Channel in the Indian Ocean” separates: 

a. Great Nicobar Island of India and Indonesia. 

b. Maldives and Seychelles 

c. Sumatra and Java of Indonesia 

d. Australia and New Zealand 

Solution: a 

Explanation: 

The Great Channel in the Indian Ocean separates Great Nicobar Island of India and Aceh 

Province of Indonesia. The Great Channel is located at six degrees north of equator and is 

popularly referred to as the ‘Six Degree Channel’. The width of the Great Channel is 163 Km 

(88 nautical miles) between Indira Point in Great Nicobar and Rondo Island of Indonesia’s 

Aceh Province. A deep and clear channel, it is suitable for navigation by large merchant 

vessels. 

 

Q15. Which of the following is/are included under the Priority Sector Lending (PSL), as 

notified by the Reserve Bank of India (RBI)? 

1. All farmers in India 

2. Self Help Groups 

3. Persons with disabilities 

4. Minority communities as may be notified by Government of India from time to time. 

5. Scheduled Castes and Scheduled Tribes 

Select the correct code. 
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a. 1, 2 and 3 only 

b. 2 and 3 only 

c. 2, 3, 4 and 5 only 

d. 2, 3 and 5 only 

Solution: c 

Explanation: 

Weaker section category loans come under Prior Sector Lending. 

Priority sector loans to the following borrowers will be considered as lending under Weaker 

Sections category: 

 

 

Farmers with landholding of up to 1 hectare (Marginal Farmers). 

Farmers with a landholding of more than 1 hectare and up to 2 hectares (Small Farmers). 

Q16. Consider the following statements about Mauryan Empire. 

1. Except North-Western part, entire India came under rule of Mauryan Empire. 

2. The Empire expanded into the southern Indian subcontinent under the rule of 

Chandra Gupta Maurya. 

3. Mauryan Dynasty was replaced by Sunga Dynasty. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 3 only 

d. 2 only 

Solution: c 

Explanation: 

First statement is incorrect. 
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The Empire was founded in 322 BCE by Chandragupta Maurya, who had overthrown the 

Nanda Dynasty, and rapidly expanded his power, with Chanakya’s help, westward across 

central and western India. His expansion took advantage of the disruptions of local powers 

in the wake of the withdrawal westward by Alexander the Great’s armies. By 316 BCE, the 

empire had fully occupied Northwestern India, defeating and conquering the satraps left by 

Alexander. 

 

Second statement is incorrect. 

Southern Expedition Was started by Bindusara and Ashoka the Great. 

During his reign, Bindusara expanded the Maurya Empire southward. He brought 16 states 

under the Maurya Empire and thus conquered almost all of the Indian peninsula. Bindusara 

ignored the friendly Dravidian kingdoms of the Cholas, the Pandyas, and Cheras. Apart from 

these southern states, Kalinga (modern-day Odisha) was the only kingdom in India 

independent from Bindusara’s empire. 
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Then came Ashoka and took Kalinga. 

 

Third statement is correct: 
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Q17. Consider the following statements regarding Bioremediation. 

1. It is a waste management technique that includes the use of living organisms to 

eradicate pollutants from a contaminated site. 

2. Bioremediation techniques can be categorized as: ex situ or in situ. 

3. Some highly chlorinated contaminants and high molecular weight compounds can be 

treated completely by bioremediation using microorganisms. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 

First and Second statement is correct. 

Environmental pollution has been on the rise in the past few decades owing to increased 

human activities on energy reservoirs, unsafe agricultural practices and rapid 

industrialization. Amongst the pollutants that are of environmental and public health 

concerns due to their toxicities are: heavy metals, nuclear wastes, pesticides, greenhouse 

gases, and hydrocarbons. Remediation of polluted sites using microbial process 

(bioremediation) has proven effective and reliable due to its eco-friendly features. 

Bioremediation can either be carried out ex situ or in situ, depending on several factors, 

which include but not limited to cost, site characteristics, type and concentration of 

pollutants. 

Ex situ bioremediation techniques 

These techniques involve excavating pollutants from polluted sites and subsequently 

transporting them to another site for treatment. Ex situ bioremediation techniques are 
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usually considered based on: the cost of treatment, depth of pollution, type of pollutant, 

degree of pollution, geographical location and geology of the polluted site. 

In situ bioremediation techniques 

These techniques involve treating polluted substances at the site of pollution. It does not 

require any excavation; therefore, it is accompanied by little or no disturbance to soil 

structure. Ideally, these techniques ought to be less expensive compared to ex situ 

bioremediation techniques, due to no extra cost required for excavation processes. 

The foremost step to a successful bioremediation is site characterization, which helps 

establish the most suitable and feasible bioremediation technique (ex situ or in situ). 

 

Do cover all four in red circles. Just check if you know the basics of these four terms. 

Third statement is incorrect. 
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Q18. Which one of the following terms describes not only the physical space occupied by an 

organism, but also its functional role in the community of organisms? 

a. Ecotone 

b. Ecological niche 

c. Habitat 

d. Home range 

Solution: b 

Explanation: 
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Q19. In the context Preamble of India, arrange the following in chronological order of their 

occurrence in Preamble. 

1. EQUALITY of status and of opportunity 

2. LIBERTY of thought, expression, belief, faith and worship 

3. FRATERNITY assuring the dignity of the individual and the unity and integrity of the 

Nation 

4. JUSTICE, social, economic and political 

Select the correct code. 

a. 4-1-2-3 

b. 1-4-2-3 

c. 2-1-4-3 
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d. 4-2-1-3 

Solution: d 

Explanation: 

Start the test just to check if you know Preamble or not. 

 

 

Q20. Consider the following statements: 

1. A bondholder tends to benefit if the interest rate on bonds increases in future. 

2. A bondholder tends to lose if the inflation rate is higher in future. 

Which of the statements given above is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

The statement (1) is incorrect and statement (2) is correct. 

The bond is a debt security, under which the issuer owes the holders a debt and (depending 

on the terms of the bond) is obliged to pay them interest (the coupon) or to repay the 
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principal at a later date, termed the maturity date. Interest is usually payable at fixed 

intervals. 

A bondholder will not be impacted by the future increase in interest rate because the 

interest rate on his bond will remain the same. It can be an indirect loss as buying the bond 

sometime later might have given him more interest. 

Higher inflation is bad for bondholder as it will lower down his real return from the bond 

investment. 

 

Q21. Which of the following is/are best methods of forest conservation to protect Himalayan 

biodiversity? 

1. The forest cover should be of hardwood mixed deciduous type. 

2. Chir pines plantation is most suitable for Himalayan ecosystem as roots are deep and not 

prone to fire. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Now such questions are very important. Bus problem is ye aasani se ni milte (not easy to find)..You 

should be happy that we are doing It for you. Just you follow regularly and please join our Test Series 

for best preparation of Prelims. Dimag ka growth hona bhut jruri. Idhar krlo easily ya phir decide your 

future. 

 

Q22. With respect to agriculture production, consider the following statements. 
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1. Total factor productivity (TFP) is higher for high income countries and worst for middle income 

countries like India. 

2. Total factor productivity (TFP) growth is influenced by climate change and changes in fiscal 

policy. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution:  b 

Explanation: 

Sabse pehle aapko ye pta hona chahye ki TFP kya hota h…Uske baad aap proceed kro (First you know 

what is TFP, then proceed). 

Total factor productivity (TFP) refers to the productivity of all inputs taken together. TFP is a 

measure of the output of an industry or economy relative to the size of all of its primary factor 

inputs. 

TFP tracks changes in how efficiently agricultural inputs such as land, labour, fertilizer, feed, 

machinery and livestock are transformed into outputs like crops, livestock and aquaculture products. 

First statement is incorrect: 

Middle-income countries including India, China, Brazil and erstwhile Soviet republics continued to 

have strong TFP growth rates. 

India has seen strong TFP and output growth this century. The most recent data shows an average 

annual TFP growth rate of 2.81 per cent and output growth of 3.17 per cent (2010–2019). 

 

 

Second statement is correct: 

TFP growth is influenced by climate change, weather events, changes in fiscal policy, market 

conditions, investments in infrastructure and agricultural research and development. 
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Link: https://www.downtoearth.org.in/news/agriculture/global-agricultural-productivity-not-

growing-as-fast-as-food-demand-report-79805 

Q23. Consider the following statements. 

1. India was ranked as the second-largest recipient of Foreign Direct Investments (FDIs) in 2020 

after US. 

2. For FY20-21, computer software and hardware emerged as the top sector with more than 50 

percent share of the total FDI inflow. 

3. UAE is the largest investor to India in 2020. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 2 only 

d. 1 and 2 only 

Solution: c 

Explanation: 

First statement is incorrect. 

India was ranked as the fifth-largest recipient of Foreign Direct Investments (FDIs) in 2020, 

according to the latest World Investment Report-2021 (WIR) that was released by UNCTAD (United 

Nations Conference on Trade and Development). 

 

Second statement is correct. 

For FY20-21, computer software and hardware emerged as the top sector with 55% share of the 

total FDI inflow, followed by construction infrastructure at 16% and services sector at 11%. 

https://www.downtoearth.org.in/news/agriculture/global-agricultural-productivity-not-growing-as-fast-as-food-demand-report-79805
https://www.downtoearth.org.in/news/agriculture/global-agricultural-productivity-not-growing-as-fast-as-food-demand-report-79805
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Third statement is incorrect: 

Singapore is the key contributor of FDI in India, followed by the US and Mauritius. FDI from 

Singapore increased by 25% in 2020-21 as compared with 2019-20. 
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Q24. 'Statutory Liquidity Ratio (SLR)' maintained by Scheduled Commercial Banks as per: 

a. RBI Act 1934. 

b. Banking Regulation Act 1949 

c. Announced under Budget 

d. Decided by Central Government 

Solution: b 

Explanation: 

Section 24 and Section 56 of the Banking Regulation Act 1949 mandates all scheduled commercial 

banks, local area banks, Primary (Urban) co-operative banks (UCBs), state co-operative banks and 

central co-operative banks in India to maintain the SLR. 

Q25. Consider the following pairs. 

             Seas  between 

1. Dead Sea Israel and Lebanon 

2. Aral Sea Kazakhstan and 

Uzbekistan 

3. Sea of Azov Russia and Turkey 

 

Which of the above pairs is/are correct? 

a. 1 and 2 only 
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b. 2 only 

c. 1 and 3 only 

d. 2 and 3 only 

Solution: b 

Explanation: 

             Seas  between 

Dead Sea Israel and Jordan 

Aral Sea Kazakhstan and 

Uzbekistan 

Sea of Azov Russia and Ukraine 
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Q26. What is common between the places: Rummindei, Sanchi, Sarnath and Sahasram? 

a. They are located at the same latitude. 

b. They were the capitals of the Mahajanpadas. 

c. They are some of the earliest cities, even before the Indus valley civilization was 

discovered. 

d. They contain Ashokan pillar inscriptions. 

Solution: d 

Explanation: 

 

Asoka was the first ruler who inscribed his messages to his subjects and officials on stone 

surfaces – natural rocks as well as polished pillars. 

He used the inscriptions to proclaim what he understood to be dhamma. This included 

respect towards elders, generosity towards Brahmanas and those who renounced worldly 

life, treating slaves and servants kindly, and respect for religions and traditions other than 

one’s own. 

Q27. Which of the following acted as an Interim president of Constituent Assembly before 

Rajendra Prasad was elected as the permanent President of Constituent Assembly? 
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a. Rajendra Prasad 

b. J B Kriplani 

c. C Rajagopalachari 

d. Sachchidananda Sinha 

Solution: d 

Explanation: 

 

 

Q28. The ‘Red Data Books’ published by the International Union for Conservation of Nature 

and Natural Resources (IUCN) contain lists of 

1. Endemic plant and animal species present in the biodiversity hotspots. 

2. Threatened plant and animal species. 

3. Protected sites for conservation of nature & natural resources in various countries. 

Which of the statement given above is/are correct? 

a. 1 and 2 only 

b. 2 only 

c. 2 and 3 only 

d. 1, 2 and 3 

Solution: b 

Explanation: 

It publishes Red data book which contains a list of ‘Threatened species’ (vulnerable, 

endangered and critically endangered). 

Q29. In the context of India Polity, consider the following statements regarding 

Referendum. 
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1. As per the Constitution, Referendum is prohibited in India. 

2. India has never exercised Referendum after independence. 

3. Referendum is an example of indirect democracy majorly practiced by non-

democratic nations. 

Which of the above statements is/are incorrect? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 2 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

It is asked incorrect. Be careful.  

The statement 1 is incorrect as Referendum is a tool of direct democracy. 

What is the difference between direct and indirect democracy? 

Majority of democratic nations across the world, follow the system of an indirect 

democracy, wherein the citizens elect their representatives, who in turn make laws, 

determine policies and carry-on administrative work. On the other hand, in some countries 

citizens directly take part in the administration of the country, decide on policy issues and 

make laws as well. This form is called a direct democracy and a referendum is a 

facet/means of it. In a referendum, the citizens are called to vote in person (rather than 

through their elected representatives) on a policy decision to be taken by the government 

(for instance, United Kingdom's decision to leave the European Union) or an amendment to 

their Constitution. Several nations have incorporated provisions for referendums in their 

Constitution. 

Second statement is incorrect. 

India has Practiced referendum after Independence. Check below: 

Independent India and Referendums 

The Constitution as adopted by the Constituent Assembly, did not have any provisions for a 

referendum. However, the nation witnessed referendums on five key occasions. 

a. First, during the incorporation of Chandernagore within the territory of India 

b. Incorporation of princely state of Junagadh, wherein the citizens voted to accede to 

India rather than Pakistan in the year 1948 

c. Pondicherry (a former French territory) voting to join the Indian Union in the year 

1954. 

d. Incorporation of Goa, Daman and Diu. It should be noted that the government did 

not call the this exercises a 'referendum' but an Opinion Poll. However, in effect it 

was a referendum. 
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e. The last referendum happened in the year 1975, wherein the inhabitants of Sikkim 

decided on their merger with India 

First statement is also incorrect. 

The Constitution of India is silent on a referendum, therefore theoretically a referendum is 

neither allowed nor prohibited. 

Q30. The power to legislate on all matters relating to elections to Panchayats lies with: 

a. the Parliament of India 

b. the State Legislatures 

c. the State Election Commission 

d. the Election Commission of India 

Solution: b 

Explanation: 

The Election Commission of India conducts election of state assemblies, Parliament, 

president and Vice President. 

The parliament has passed 73rd Constitutional amendment, wherein 

The State legislature can enact law related to Panchayat elections. And according to those 

laws, the State Election Commission conducts elections to Panchayat. 

 

 

Q31. If a straight horizontal line drawn through Caspian Sea, which of the following seas/regions it 

will never cut? 

1. Mediterranean Sea 

2. Red Sea 

3. Black Sea 

4. Yellow Sea 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 4 only 

c. 3 and 4 only 

d. 2 only 

Solution: d 

Explanation: 
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Q32. Which of the following is nearest to Tropic of Cancer? 

1. Luzon Strait 

2. Java Sea 

3. Caspian Sea 

4. North Sea 

Solution: a 

Explanation: 

 

 

Q33. Consider the following pairs. 

1. Guiana Highlands: Africa 

2. Greater Antilles: Atlantic Ocean 

3. Rocky Mountains: North America 

Which of the above pairs is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 3 only 
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d. 1 and 2 only 

Solution: c 

Explanation: 

 

 

Q34. Which of the following regions/rivers flow is/are below Tropic of Cancer? 

1. River Narmada 

2. Dandakaranya region 

3. Aravalli Range 

4. Banas River 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 
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c. 1, 2 and 4 only 

d. 1 only 

Solution: a 

Explanation: 

 

 

Q35. The Strait of Gibraltar links the  

a. Mediterranean Sea to Black Sea 

b. Mediterranean Sea to Red Sea 

c. Caspian Sea to Black Sea 

d. Atlantic Ocean to the Mediterranean Sea. 

Solution: d 

Explanation: 
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Q36. Consider the following rivers. 

1. Krishna River 

2. Godavari River 

3. Palar River 

4. Kaveri River 

Arrange the above river from North to South in the way they flow. 

a. 1-2-3-4 

b. 2-1-3-4 

c. 2-1-4-3 

d. 1-2-4-3 

Solution: b 

Explanation: 
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   Q37. Which of the following state has northernmost tip? 

a. Manipur 

b. Tripura 

c. Meghalaya 

d. Nagaland 

Solution: D 

Explanation: 
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Q38. Tropic of Capricorn passes through: 

a. Kalahari Desert 

b. Rocky Mountain 

c. Sahara Desert 

d. Gobi Desert 

Solution: a 

Explanation: 

You should know: 

a. Where are these deserts? 

b. Tropic of CAPRICORN 

Answer is Kalahari Desert. Rocky is in US, Sahara in North Africa, Gobi in China. Tropic of 

Capricorn passes through southern part of Africa, you can easily eliminate all. 
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Q39. Consider the following. 

1. North Sea 

2. Baltic Sea 

3. Atlantic Ocean 

4. Black Sea 

Arrange the above seas from West to East. 

a. 3-2-1-4 

b. 3-1-2-4 

c. 3-1-4-2 

d. 1-3-2-4 

Solution: b 

Explanation: 
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Q40. Which of the places given below is closest to Sri Lanka? 

a. Puducherry 

b. Chennai 

c. Vishakhapatnam 

d. Bangalore 

Solution: a 

Explanation: 

Vishakhapatnam is in Andhra Pradesh. 

Among Puducherry and Chennai, Puducherry is near to Sri Lanka. Bangalore is between 

Puducherry and Chennai. 
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Q41. Consider the following statements. 

1. Annual Coal production falls in 2020-21 for the first time in the last 10 years (compared to 

previous years). 

2. Out of total coal supply in India, the share of supply from import is more than indigenous 

production. 

3. Currently, total installed capacity from non fossil fuels is around 40 percent. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

First statement is correct. 
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Second statement is incorrect: 

It has to be noted that not all supply is through indigenous production. For 2019-20, out of the total 

supply of 955.31 MT, only 706.77 MT is indigenous. The balance of 248.54 MT is met through 

imports. The proportion of imports in the total supply is around 26%. This share is higher than in the 

earlier years. In fact, the volume of indigenous supply fell in 2019-20 compared to 2018-19. 

Meanwhile, there is an increasing trend observed in terms of the import of coal. 
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Third statement is correct: 
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Q42. Consider the following statements. 

1. The Rajmahal Hills is locates in Baghelkhand region of Madhya Pradesh. 

2. Sauria Paharia, a Particularly Vulnerable Tribal Group (PVTG) belongs to Madhya Pradesh. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

News section: 
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First statement is incorrect. 

The Rajmahal Hills are located in the Santhal Pargana division of Jharkhand, India. 

 

 

 

Baghelkhand is a region and also a mountain range in central India that covers the northeastern 

regions of Madhya Pradesh. 

Second statement is incorrect. 
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Q43. Senki, Barap and Palin are tributaries of: 

a. Mahanadi 

b. Brahmaputra 

c. Godavari 

d. Ganga 

Solution: b 

Explanation: 

 

Q44. Which one of the following countries is closest to the Equator?  

a. Taiwan 

b. Sri Lanka  

c. Oman 

d. Libya 

Solution: b 

Explanation: 

See map below. 
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Q45. Which of the following are the criteria for a Central Public Sector Enterprise (CPSE) to 

be accorded the status of a Maharatna? 

1. It should be listed on the Indian Stock Exchange 

2. It should have Navratna status 

3. Average annual turnover of more than Rs. 5,000 crores, during the last 3 years. 

Select the correct code. 

a. 1 and 3 only 

b. 2 and 3 only 

c. 1, 2 and 3 only 

d. 1 and 2 only 

Solution: d 

Explanation: 

We will learn here two things: Eligibility and Procedure. 
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Q46. In the context of Medieval History, the term ziyarat refers to: 

a. a form of pilgrimage associate with Sufi saints 

b. land tax associated to non-Muslims   

c. purdah system adopted during Aurangzeb and other Mughal rulers 

d. tax associated to non-Muslims to visit mosques 

Solution: a 

Explanation:  

Dear Sir/Ma’am, its NCERT. 

 

Q47. With respect to Indian judicial system, consider the following statements. 

1. Furlough and parole envisage a short-term temporary release from custody. 

2. While parole is granted for the prisoner to meet a specific exigency, furlough may be 

granted after a stipulated number of years have been served without any reason. 

3. The prisoner does not have an absolute legal right to claim furlough. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 
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c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

The Supreme Court has discussed the differences between 'furlough' and 'parole' and the 

principles relating to grant of them. 

A bench comprising Justice DY Chandrachud and Justice BV Nagarathna stated the broad 

principles as : 

i. Furlough and parole envisage a short-term temporary release from custody; 

ii. While parole is granted for the prisoner to meet a specific exigency, furlough may be 

granted after a stipulated number of years have been served without any reason; 

iii. The grant of furlough is to break the monotony of imprisonment and to enable the 

convict to maintain continuity with family life and integration with society; 

iv. Although furlough can be claimed without a reason, the prisoner does not have an 

absolute legal right to claim furlough; 

v. The grant of furlough must be balanced against the public interest and can be refused 

to certain categories of prisoners. 

Referring to various precedents, the bench also observed that balance needs to be 

maintained between two competing interests while granting parole or furlough- that of 

reforming the convict on one hand and the public purpose and interests of society on the 

other. 

Q48. Consider the following statements regarding Finance Commission. 

1. A person shall be disqualified for being appointed as a member of the Commission if 

he is of unsound mind or he is an undischarged insolvent. 

2. Members of Finance Commission are eligible for reappointment. 

Which of the following statements is/are correct regarding Finance Commission? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

 

Solution: C 

Explanation: 

It is not mentioned in Constitution, BUT….. 
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Q49. Consider the following statements. 

1. President can promulgate an ordinance only when both the Houses of Parliament are 

not in session. 

2. Maximum life of an ordinance can be 6 months. 

3. Ordinance can modify, repeal any act of parliament. 

 Which of the following statement is/are correct regarding ordinance making power of 

President? 

a. 1 only 

b. 1 and 3 only 

c. 3 only 

d. 2 and 3 only 

Solution: c 

Explanations: 

Article 123 of the constitution empowers the President to promulgate ordinances. 

He can promulgate an ordinance only when both the houses are not in session or when 

either of the two houses is not in session. Here in statement 1, “only” word is creating 

problem. President can promulgate ordinance when even single house is not in session. 



 

GOALTIDE IAS ACADEMY 49 

 

QUIZ COMPILATIONS – OCTOBER PART 2 

 
Without being approved by the Parliament an ordinance can last for a maximum period of 

six months and six weeks.  

 
An ordinance, like any other legislation, can be retrospective, can modify or repeal any act 

of Parliament. However, it cannot amend the constitution. 

 

Q50. Consider the following statements with reference to taxation. 

1. Higher direct taxes help in controlling Inflation in the economy 

2. Higher indirect taxes help in controlling the Inflation in the economy 

Which of the above statements is/are not correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

  

Solution b 

 

Explanation: 

 

Higher direct taxes will mean that the people will be left with smaller disposable incomes, 

lower disposable incomes do not generate higher demand. This causes the inflation to be 

controlled. 

Whereas higher indirect taxes will increase the prices of the commodities because the cost 

of production will increase. This will lead to Cost-push inflation. 
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Q51. With respect to Global Tuberculosis Report 2021, consider the following statements. 

1. Global estimated incidence of Tuberculosis continues to increase. 

2. The trend of incidence of Tuberculosis in India is similar to the Global trend, i.e., increasing. 

3. The country that contributed most to the global drop between 2019 and 2020 is India. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 3 only 

Solution: d 

Explanation: 

The first statement is incorrect. 

Big drops in TB case notifications 

 

Second statement is incorrect. 

The trend in India is similar to the Global trend 
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Just like the global trend, the incidence of TB cases in India has reduced in the last two decades. In 

the year 2000, the incidence was as high as 289 cases per lakh population which have now reduced 

to 188 cases per lakh population. This is the lowest incidence since the year 2000. 

 

Third statement is correct: 
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Q52. With respect to Tele Law scheme, consider the following statements. 

1. Tele-Law is designed to provide pre-litigation legal advice and consultation to people, 

especially the needy and disadvantaged. 

2. Tele law project conceptualize concept of local self-governance as CSC centres are operated by 

Village Level Entrepreneur (VLE). 

3. Para Legal Volunteers (PLV) will identify people in need of legal advice under this scheme. 

Which of the above statements is/are correct? 

a. 1 and 2 only 
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b. 2 and 3 only 

c. 1 and 3 only 

d. 1,2 and 3 

Solution: d 

Explanation: 

First statement is correct. 

Launched in 2017, the Tele-Law programme has been conceptualized by the Department of Justice 

as a key legal empowerment model for the poor and vulnerable. Tele-Law is designed to provide 

pre-litigation legal advice and consultation to people, especially the needy and disadvantaged. 

The scheme is to facilitate delivery of legal advice virtually to the general public through, the panel 

lawyer stationed at the State Legal Service Authority (SLSA) using network of Common Service 

Center (CSC) through video conferencing or Tele phone. Hence the entire objective of the scheme 

was to make the availability of legal advice hassle free using technology. 

Third statement is correct. 

The first stage in the process of materializing the Tele -law scheme is to identify people in need of 

legal advice. This task is being performed by Para Legal Volunteers (PLV) of the area.  

Scheme of appointment of PLV in 2009 by NLSA is a commendable step as they are expected to act 

as intermediaries bridging the gap between the common people and the legal service institution to 

remove the impediment in access of justice to the people living in remote areas. They are trained 

with basic legal knowledge, working of various institution, welfare scheme of Government so, that 

they could help the needy of their local area. PLVs in each area are duty bound to identify the citizen 

facing any legal issue and to bring them in CSC centre for legal advice. 
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Second statement is correct. 

VLE is a Village Level Entrepreneur who runs the CSC in your area and provides for the Tele Law 

Service through his center. Tele law project also conceptualize concept of local self-governance as 

CSC centres are operated by Village Level Entrepreneur (VLE). At present total 29,860 CSC are 

functional throughout India. 

Q53. Which of the following is/are eligible for free legal aid under Legal Service Authority (NLSA) 

Act,1987? 

1. a member of a Scheduled Caste or Scheduled Tribe 

2. a victim of trafficking in human beings or begar as referred to in article 23 of the Constitution 

3. a woman or a child 

4. a person being a victim of a mass disaster, ethnic, violence, caste atrocity, flood, drought, 

earthquake or industrial disaster 

Select the correct code. 

a. 1, 2 and 3 only 

b. 2, 3 and 4 only 

c. 1, 2 and 3 only 

d. 1, 2, 3 and 3 

Solution: d 

Explanation: 

 

 

Q54. Consider the following statements. 
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1. India till date has not formulated National Policy for Management of Crop Residue. 

2. Major GHGs released from crop residue burning are carbon dioxide and carbon monoxide. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

In 2014, the Union government released the National Policy for Management of Crop Residue. 

Since then, crop residue management has helped make the soil more fertile, thereby resulting in 

savings of Rs 2,000/hectare from the farmer’s manure cost. First statement is incorrect. 

A study estimates that crop residue burning released 149.24 million tonnes of carbon dioxide (CO2), 

over 9 million tonnes of carbon monoxide (CO), 0.25 million tonnes of oxides of sulphur (SOX), 1.28 

million tonnes of particulate matter and 0.07 million tonnes of black carbon. Second statement is 

correct. 

 

Q55. Consider the following African Nations. 

1. Zambia 

2. Democratic Republic of Congo 

3. Gabon 

4. Nigeria 

Which of the above nations is/are not land-locked nations? 

a. 3 and 4 only 

b. 1 and 3 only 

c. 2, 3 and 4 only 

d. 1, 2 and 4 only 

Solution: c 

Explanation: 

Except Zambia, all countries share boundaries with Atlantic Ocean. 
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Q56. The nationalization of coal mines took under the priministership of: 

a. Jawahar Lal Nehru 

b. Indira Gandhi 

c. Sanjay Gandhi 

d. P. V Narsimha Rao 

Solution: b 

Explanation: 

Once we go through history, we will never forget this. Prime Minister is not difficult if you 

know date of nationalization. Ok read now. 
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Q57. Consider the following statements. 

1. Right to form Co-operative society is a fundamental Right. 

2. Lord Curzon Passed Co-operative Society Act in British India. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

The 97th Constitutional Amendment Act of 2011 gave constitutional status and protection to 

co-operative societies. 

In this context, it made three changes in the constitution: 

a. It made Right to form co-operatives a Fundamental Right (article19) 

b. It introduced a new DPSP on promotion of co-operatives (Article 43-B) 

c. It added a new part IX-B in the Constitution which is entitled “The Co-operatives 

Societies” (Article 243ZH TO 243ZT). 

Taking cognizance of developments and to provide a legal basis for cooperative societies, 

Government of India under leadership of Lord Curzon appointed Sir Edward Law Committee 

with Mr. Nicholson as one of the members in 1901 to examine and recommend a course of 

action. The Cooperative Societies Bill, based on the recommendations of this Committee, 

was enacted on 25th March 1904. 

 

 

Q58. Consider the following Harrapan sites. 

1. Mehrgarh 

2. Kot Diji 

3. Chanhudaro 

4. Dholavira 

5. Surkotada 
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6. Harappa 

Which of the above sites are located in today’s India? 

a. 2, 3, 4, 5 and 6 only 

b. 3 and 5 only 

c. 4 and 5 only 

d. 3, 4 and 5 only 

Solution: c 

Below is the list of all sites. Please look at all sites at once carefully. Just have a look. You will 

remember in exam. 

From the below given image, we can say only Dholavira and Surkotada are located in India. 

 

Q59. In the context of Oath and Affirmation mentioned in Indian Constitution, consider the 

following statements. 

1. Every Governor before entering upon his office, subscribe in the presence of the 

President. 
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2. Every person appointed to be a Judge of a High Court shall, before he enters upon 

his office, make and subscribe before the Governor of the State. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

If you are new to our platform, please make a habit of reading polity from Constitution of 

India book for articles.  Here, we mention for every question, you people also make it a habit. 

It takes time in beginning, but later Polity will become crystal clear to you. 

 

 

Q60. Consider the following. 

1. Blood donation camps 

2. Vaccination camps  

3. Solid Waste under Municipal Solid Waste Rules, 2000 

4. First Aid rooms of Schools 

Which of the above fall/s under Biomedical Waste Rules, 2016? 

a. 2, 3 and 4 only 

b. 1, 2 and 4 only 

c. 1 and 2 only 

d. 1 only 

Solution: b 

Explanation: 

First Biomedical Waste Management Rules came in 1998, then in 2011 and finally 2016. 
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Biomedical Waste Management Rules 2016.  

While in 2011, the 1998 rules were amended to include all persons who generate, collect, 

receive, store and transport biomedical waste, the 2016 rules bring more clarity by 

specifying that vaccination camps, blood donation camps, surgical camps and all other HCFs 

have been included.

 
a. These Rules shall not apply to: 

 

 

Q61. Consider the following statements. 

1. Carbon dioxide remains in the oceans longer than in atmosphere. 
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2. The global warming potential of a carbon dioxide molecule is more than menthane. 

3. More than 90 percent of the N2O emission in the atmosphere is from anthropogenic 

sources. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 only 

d. 1 and 3 only 

Solution: c 

Explanation: 

All statements are taken form the recently released report: 

 

First statement is correct: 

Roughly half of the CO2 emitted by human activities today remains in the atmosphere. The other 

half is taken up by oceans and land ecosystems. The part of CO2 which remains in the atmosphere, is 

an important indicator of the balance between sources and sinks. The carbon dioxide remains in the 

atmosphere for centuries and in the ocean for even longer. 

Second statement is incorrect. 

Although methane emissions are lower than carbon dioxide emissions, it is considered a major 

greenhouse gas because each methane molecule has 25 times the global warming potential of a 

carbon dioxide molecule. 

Third statement is incorrect. 

N2O is emitted into the atmosphere from both natural sources (approximately 60%) and 

anthropogenic sources (approximately 40%), including oceans, soils, biomass burning, fertilizer 

use, and various industrial processes. 

Global human-induced N2O emissions, which are dominated by nitrogen additions to croplands, 

increased by 30% over the past four decades. Agriculture, owing to the use of nitrogen fertilizers and 

manure, contributes 70% of all anthropogenic N2O emissions. This increase was mainly responsible 

for the growth in the atmospheric burden of N2O. 

Link: https://public.wmo.int/en/media/press-release/greenhouse-gas-bulletin-another-year-

another-record 

Q62. With respect to protected areas in India, consider the following statements regarding 

Community Reserves. 

https://public.wmo.int/en/media/press-release/greenhouse-gas-bulletin-another-year-another-record
https://public.wmo.int/en/media/press-release/greenhouse-gas-bulletin-another-year-another-record
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1. They were introduced for the first time under Wildlife Protection Act of 1972. 

2. Community reserves can be declared by both state governments and private owners of the 

region. 

3. Currently, more than 90 percent of the community reserves are from North East. 

Which of the above statement sis/are correct? 

a. 3 only 

b. 2 and 3 only 

c. 1 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 

First statement is incorrect: 

These protected area categories were first introduced in the Wildlife (Protection) Amendment Act of 

2002 − the amendment to the Wildlife Protection Act of 1972. 

Second statement is incorrect: 

 

Something extra: 

 

Third statement is correct. 
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Q63. Consider the following statements regarding Cocoa cultivation. 

1. African countries contribute about 70 per cent of global cocoa production. 

2. It is mainly cultivated in southern states of India. 

3. Rainfall and humidity requirement of cocoa is very low so it is cultivated mostly in temperate 

regions. 

Which of the above statements is/are correct? 

a. 1and 2 only 

b. 2and 3 only 

c. 1 and 3 only 

d. 1,2 and 3 

Solution: a 

Explanation: 

First two are facts. Remember. Two-thirds of world cocoa production originates from West Africa 

alone. In India Cocoa is being cultivated in the States of Kerala, Karnataka, Andhra Pradesh and 

Tamil Nadu. 

Third statement is incorrect. 

It is a crop of tropics. 
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Q64. “Zero-Trust model” recently seen in news is related to: 

a. To attain targets tot tackle climate change 

b. Antimicrobial resistance 

c. Cybersecurity 

d. Fighting invasive species in agriculture 

Solution: c 

Explanation: 

 

 

Q65. Consider the following seas. 

1. Aegean Sea 

2. Black Sea 

3. Adriatic Sea 

Arrange the above seas from West to East. 

a. 2-3-1 

b. 3-2-1 

c. 3-1-2 

d. 2-1-3 

Solution: c 

Explanation: 
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Adriatic Sea was already asked in Prelims 2019.  

Correct order from West to East is: 

Adriatic- Aegean- Black 

See the map now. 

 

Q66. Consider the following statements. 

1. When the Vice-President acts as President or discharges the functions of the 

President, he continues to perform the duties of the office of Chairman of the 

Council of States. 

2. All doubts and disputes arising out of or in connection with the election of a Vice-

President shall be decided by the Supreme Court. 

3. A procedure to remove Vice President is provided in the Constitution. 

Select the correct code. 

a. 1 and 2 only 

b. 2 and 3 only 

c. 2 only 

d. 1, 2 and 3 

Solution:  b 

Explanation:  

First Statement: incorrect 
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Second Statement: correct 

 

Third Statement: correct 

Removal Procedure is provided by Article 67 (2) 

 

Q67. Which of the following are the characteristic features of a desert biome? 

a. High diurnal range of temperature 

b. Violent thunderstorms 

c. Waxy, leathery, hairy or needle-shaped foliage 

d. Humus deficient soils 

Select the correct answer using the code given below: 

a. 1, 3, and 4 only  

b. 1 and 4 only 

c. 3 and 4 only 

d. 1, 2, 3 and 4 

Solution: d 
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The desert biome is an ecosystem that forms due to the low level of rainfall it receives each 

year. Intense insolation by day in a region of dry air and no clouds causes the temperature 

to rise with the sun. But as soon as the Sun sets, the land loses heat very quickly by radiation 

and the mercury levels drop. High diurnal temperature range is a typical feature of hot 

deserts. Average diurnal range varies from 14 to 25° Celsius. So, statement 1 is correct.  

Deserts, whether hot or mid-latitude, have annual precipitation of less than 25 cm. Rain 

normally occurs as violent thunderstorms of the convectional type. It ‘bursts’ suddenly and 

pours continuously for a few hours over small areas. So, statement 2 is correct.  

 

Most desert shrubs have long roots and are well spaced out to gather moisture, and search 

for groundwater. Plants have few or no leaves and the foliage is either, waxy, leathery, 

hairy or needle shaped to reduce the loss of water through transpiration. So, statement 3 is 

correct.  

Intense evaporation increases the salinity of the soil so that the dissolved salts tend to 

accumulate on the surface, forming hardpans. Absence of moisture retards the rate of 

decomposition and desert soils are very deficient in humus. So, statement 4 is correct. See 

hardpan image below. 
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Q68. In the context of Ancient History, consider the following statements regarding 

Harshavardhana. 

1. He was given the title of ‘Sakolottarapathanath’ or the Lord of entire North India. 

2. Pulkeshin-II was the contemporary South Indian ruler of Harshavardhana. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

Harshavardhana was the sixth and last ruler of the Pushyabhuti dynasty of Thaneswar. With 

immense military power, and strategic diplomatic moves, Harsha came to occupy a supreme 

position in Northern India with Kanauj as his capital. Harshavardhana built up a large empire 

which he ruled for forty-one years.  

He was given the epithet of ‘Sakolottarapathanath’ or the Lord of entire North India, by 

his Chalukya rival Pulkeshin II. 

Few important things about Harshavardhana: 

He was himself an erudite scholar and composed three plays, the Rantavalli, the 

Priyadarshika and the Nagananda. He probably also composed the text of the two copper 

plate inscriptions – Banskhera and Madhuban which bear his signature. Nalanda, the great 

centre of learning, was located in his empire, and he is said to have given large grants to this 

university. 

When Pulkeshin II emerged as the undisputed master of the entire South, Emperor 

Harshavardhana was seen as the sovereign monarch of the entire North. Having 

established his supremacy on northern India, Harsha turned his attention towards the land 

beyond the Vindhyas. 

Q69. Consider the following statements. 

1. Only elected members of the State Legislative Assemblies can vote in a Rajya Sabha 

election. 

2. No single political part in history got full majority in Rajya Sabha. 

3. Not voting for the party candidate will attract disqualification under the anti-

defection law. 

4. Legislator can vote without taking oath as a member of the Assembly. 
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Which of the above statements is/are correct? 

a. 1, 3 and 4 only 

b. 1 and 3 only 

c. 1 and 4 only 

d. 1, 2, 3 and 4 

Solution: c 

Explanation: 

Don’t worry. We have lot of time to learn. But don’t forget from now. Learn. 

See article below. Red mark will take you direct to the explanation part. But we will 

recommend please go through full article. 

 

 

Second statement is wrong: 
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Statement 3 and 4 are correct. 
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Q70. Consider the following Pairs. 

         National parks/Tiger Reserve        Situated on 

1. Namdapha National Park       Mishmi Hills 

2. Melghat Tiger Reserve       Satpura Hills 

3. Sariska Tiger Reserve       Aravalli Hills 

   

Select the correct Pairs. 

a. 3 only 

b. 1 and 3 only 

c. 2 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

Such questions are very important for exam. Either it is temple located on Hills, National 

Parks on Hills, monasteries on hills, anything similar to this is important. We have covered 

and will try to cover every such topic.  

 

         National parks/Tiger Reserve        Situated on 
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1. Namdapha National Park       Mishmi Hills 

2. Melghat Tiger Reserve       Satpura Hills 

3. Sariska Tiger Reserve       Aravalli Hills 

 

 

Q71. As per the recent NCRB’s Crime in India report – 2020, consider the following 

statements regarding Economic offences in India. 

1. The number of economic offences has reduced in 2020 compared to 2019. 

2. Among economic crimes, the greatest number of offences are recorded under the 

head – Forgery, Cheating & Fraud (FCF). 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

We asked you two basic statements. Reason is simple: Economic offences have been in the 

limelight for the last few years with a few high-profile individuals fleeing the country after 

duping banks of thousands of crores. So just keep these two basics in mind.  

As per NCRB’s Crime in India report – 2020, the total number of economic offences in the 

country in 2020 was 1.45 lakhs. This constitutes around 3.4% of all cognizable IPC crimes 

reported in the year. The number of economic offences has reduced compared to 2019 

when it was 1.65 lakhs. This is in line with the trend observed across major crimes heads 

during 2020, owing to the COVID-19 pandemic. 

 

In NCRB’s Crime in India (CII) report, Economic Offences are categorized under three major 

crime heads.  
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Among these, the greatest number of offences are recorded under the head – Forgery, 

Cheating & Fraud (FCF). 

Link: https://ncrb.gov.in/sites/default/files/CII%202020%20Volume%202.pdf 

Q72. Consider the following statements with respect to the office of a Judge of a High Court. 

1. A Judge may be removed from his office by the President in the manner as Judge of 

the Supreme Court. 

2. Every Judge of a High Court shall be appointed by the Chief Justice of High Court. 

3. One of the criteria to be eligible for appointed as a judge of High Court is that he has 

for at least ten years held a judicial office in the territory of India. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 1 and 3 only 

d. 1 only 

Solution: c 

Explanation: 

See if you do mistakes (now you can do) in polity questions, aap backfoot pe chale jaoge. 

Polity questions you have to handle very carefully. This is the only subject you will feel 

comfortable in UPSC paper. So just follow us whatever we are asking. Iske baad aap kya krte 

ho, kya padhte, we don’t care. Idhar don’t miss anything. 

Coming back to question: 

Second statement is incorrect. Rest two are correct. 

https://ncrb.gov.in/sites/default/files/CII%202020%20Volume%202.pdf
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Q73. With respect to Common Vulnerabilities and Exposures (CVE) Program, consider the 

following statements. 

1. CVE is an international, community-based effort and relies on the community to 

discover vulnerabilities.  

2. Recently, Indian Computer Emergency Response Team (CERT-In) has been authorized 

by the CVE Program, as a CVE Numbering Authority (CNA) for vulnerabilities 

impacting all products designed, developed and manufactured in India. 

Which of the above statement sis/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

Difficult terminology. Take time and read. Don’t run. 

In the direction to strengthen trust in “Make in India” as well as to nurture responsible 

vulnerability research in the country, CERT-In has partnered with the Common 

Vulnerabilities and Exposures (CVE) Program. In this regard, Indian Computer Emergency 

Response Team (CERT-In) has been authorized by the CVE Program, as a CVE Numbering 

Authority (CNA) for vulnerabilities impacting all products designed, developed and 

manufactured in India. 
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CVE is an international, community-based effort and relies on the community to discover 

vulnerabilities. The vulnerabilities are discovered then assigned and published to the CVE 

List.  Information technology and cybersecurity professionals use CVE Records to ensure 

they are discussing the same issue, and to coordinate their efforts to prioritize and address 

the vulnerabilities. 

The mission of the CVE Program is to identify, define, and catalog publicly disclosed 

cybersecurity vulnerabilities.  

CNAs are organizations responsible for the regular assignment of CVE IDs to vulnerabilities, 

and for creating and publishing information about the Vulnerability in the associated CVE 

Record. The CVE List is built by CVE Numbering Authorities (CNAs). 

Link: https://newsonair.gov.in/News?title=CERT-In-authorized-as-CVE-Numbering-

Authority-for-vulnerabilities-impacting-all-products-designed%2C-developed-%26-

manufactured-in-India&id=428744 

Q74. What is blue carbon? 

a. Carbon captured by oceans and coastal ecosystems 

b. Carbon sequestered in forest biomass and agricultural soils 

c. Carbon contained in petroleum and natural gas. 

d. Carbon present in atmosphere 

Solution: a 

Explanation: 

This was already asked in Prelims 2021. Even if it was not asked, we would have asked as 

news was there. Topics saare cover honge (all topics will be covered), just be consistent. 

 

Blue carbon is simply the term for carbon captured by the world's ocean and coastal 

ecosystems. 

Q75. Consider the following Seas. 

1. Aral Sea. 

2. Red Sea 

3. Caspian Sea. 

Arrange the above seas from west to east. 

https://newsonair.gov.in/News?title=CERT-In-authorized-as-CVE-Numbering-Authority-for-vulnerabilities-impacting-all-products-designed%2C-developed-%26-manufactured-in-India&id=428744
https://newsonair.gov.in/News?title=CERT-In-authorized-as-CVE-Numbering-Authority-for-vulnerabilities-impacting-all-products-designed%2C-developed-%26-manufactured-in-India&id=428744
https://newsonair.gov.in/News?title=CERT-In-authorized-as-CVE-Numbering-Authority-for-vulnerabilities-impacting-all-products-designed%2C-developed-%26-manufactured-in-India&id=428744
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a. 3-2-1 

b. 2-3-1 

c. 2-1-3 

d. 3-1-2 

Solution: b 

Explanation: 

 

 

Q76. Consider the following statements regarding International Fund for Agricultural 

Development (IFAD). 
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1. It is a specialized United Nations agency aims to transform rural economies and food 

systems by making them more inclusive and productive. 

2. It is one of the few platforms where all members belong to low- and middle-income 

countries. 

3. India is a member of the IFAD. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 1 and 3 only 

c. 3 only 

d. 1, 2 and 3 

Solution: b 

Explanation: 

Very important question. All agencies of UN are important for exam. 

First Statement is correct. 

IFAD is an international financial institution and specialized United Nations agency based in 

Rome, the UN’s food and agriculture hub. 

Second statement is incorrect. 

IFAD has 177 Member States comprised of developing, middle and high-income countries 

from all regions of the world who are dedicated to eradicating poverty in rural areas.  

Membership in IFAD is open to any State that is a member of the United Nations, any of its 

specialized agencies. 

India is a member since 1977. 

 

Q77. Consider the following statements. 

1. The recommendation of B. Sivaraman committee report led to the formation of 

NABARD. 

2. NABARD Act was Passed during the priministership of Indira Gandhi. 

3. NABARD provides only short- term refinance for investment credit activities for 

giving a boost to private capital formation in agriculture. 



 

GOALTIDE IAS ACADEMY 78 

 

QUIZ COMPILATIONS – OCTOBER PART 2 

Select the correct code. 

a. 1 and 2 only 

b. 2 only 

c. 1 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 

It’s important now-a-days that you should know history of important topics. No worries for 

new students. We will go through every such topics sooner or later. Just you need to follow 

regularly. 

History: 

The importance of institutional credit in boosting rural economy has been clear to the 

Government of India right from its early stages of planning. Therefore, the Reserve Bank of 

India (RBI) at the insistence of the Government of India, constituted a Committee to Review 

the Arrangements for Institutional Credit for Agriculture and Rural Development 

(CRAFICARD) to look into these very critical aspects. The Committee was formed on 30 

March 1979, under the Chairmanship of Shri B. Sivaraman, former member of Planning 

Commission, Government of India.  First statement is correct. 

 The Committee’s interim report, submitted on 28 November 1979, outlined the need for a 

new organizational device for providing undivided attention, forceful direction and pointed 

focus to credit related issues linked with rural development. Its recommendation was 

formation of a unique development financial institution which would address these 

aspirations and formation of National Bank for Agriculture and Rural Development 

(NABARD) was approved by the Parliament through Act 61 of 1981. 

It was dedicated to the service of the nation by the late Prime Minister Smt. Indira Gandhi 

on 05 November 1982. Second statement is correct. Set up with an initial capital of Rs.100 

crore, its’ paid- up capital stood at Rs.14,080 crore as on 31 March 2020. Consequent to the 

revision in the composition of share capital between Government of India and RBI, NABARD 

today is fully owned by Government of India. 

Now, learn the history of Refinance. 

Reserve Bank of India (RBI) set up the Agricultural Refinance Corporation (ARC) in 1963 to 

work as a refinancing agency in providing medium term and long-term agricultural credit to 

support investment credit needs for agricultural development. In 1975, ARC was renamed as 

Agriculture Refinance and Development Corporation (ARDC) to give focussed attention to 

credit offtake, development and promotion of the agricultural sector. 

 Upon its formation in 1982, NABARD took over the functions of the erstwhile Agricultural 

Credit Department (ACD) and Rural Planning and Credit Cell (RPCC) of RBI and ARDC. 

https://www.nabard.org/content.aspx?id=2
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The Department of Refinance (DOR) deals with the short term and long- term refinance 

functions of NABARD. Third is not correct statement. 

 

Q78. Direct Benefit Transfer (DBT) Mission is administered by: 

a. Department of Expenditure, Ministry of Finance 

b. Department of Economic Affairs, Ministry of Finance 

c. NITI Aayog 

d. Cabinet Secretariat headed by Cabinet Secretary 

Solution: d 

Explanation: 

DBT Mission was created in the Planning Commission to act as the nodal point for the 

implementation of the DBT programmes. The Mission was transferred to the Department of 

Expenditure in July 2013 and continued to function till 14.9.2015.  

To give more impetus, DBT Mission and matters related thereto has been placed in 

Cabinet Secretariat under Secretary w.e.f. 14.9.2015. 

Link: https://dbtbharat.gov.in/page/frontcontentview/?id=MTc= 

Q79. Which of the following texts contains the Sanskrit phrase “Vasudhaiva Kutumbakam”? 

a. Manusmriti 

b. Vishnu Puran 

c. Maha Upanishad 

d. Bhagavat Puran 

Solution: c 

Explanation: 

“Vasudhaiva Kutumbakam” is a Sanskrit Phase which means that the whole world is one 

single family. The concept originates in Vedic Scripture Maha Upanishads. 

Q80. Considering the 73rd Constitutional Amendment Act 1992, who among the following 

is/are not elected indirectly? 

1. Members of Panchayat at Village and intermediate level. 

2. Chairperson of a Panchayat at district level. 

Choose the correct code from the following. 

https://www.nabard.org/content.aspx?id=466
https://www.nabard.org/content.aspx?id=466
https://dbtbharat.gov.in/page/frontcontentview/?id=MTc=


 

GOALTIDE IAS ACADEMY 80 

 

QUIZ COMPILATIONS – OCTOBER PART 2 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

All the members of panchayats at the village, intermediate and district levels shall be 

elected directly by the people. 

 

Further, the chairperson of panchayats at the intermediate and district levels shall be 

elected indirectly by and from amongst the elected members thereof. However, the 

chairperson of a panchayat at the village level shall be elected in such manner as the state 

legislature determines. 

 

 

Q81. Systematic Observations Financing Facility (SOFF) aims to: 

a. Improve logistics in transportation sector. 

b. Help countries facing current account deficit and improve financial stability 

c. to  improve collection of essential weather and climate and boost resilience to 

extreme weather and support 

d. Help countries achieve financial assistance under REDD+ framework 

Solution: c 

Explanation: 
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Q82. With respect to Seaweed farming, consider the following statements. 

1. India is the largest producer of seaweed in the world due to its large coastline. 

2. Pradhan Mantri Matsya Sampada Yojana aims to promote seaweed farming. 

3. Seaweed in animal feed is highly nutritious and reduces methane gas. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 2 only 

d. 3 only 

Solution: b 

Explanation: 

We are taking explanation from presentation given by Department of Fisheries. 
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First statement is incorrect. 

 

Second and third statement is incorrect. 
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Seaweed farming or kelp farming is the practice of cultivating and harvesting seaweed. 

 

Q83. Which of the following describes “Regenerative Agriculture”? 

1. reverse climate change by rebuilding soil organic matter 

2. No use of synthetic fertilizers and substances that disrupt the biological structuring of 

the farming system 

3. increase water percolation, water retention, and clean and safe water runoff 

Select the correct code. 
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a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

All statements are correct. You will read the link given below. Save it.  

“Regenerative Agriculture” describes farming and grazing practices that, among other 

benefits, reverse climate change by rebuilding soil organic matter and restoring degraded 

soil biodiversity – resulting in both carbon drawdown and improving the water cycle. 

 

Link: https://regenerationinternational.org/wp-content/uploads/2017/02/Regen-Ag-

Definition-2.23.17-1.pdf 

Q84. Consider the following statements. 

1. The recent conference whose theme was “Bio-Innovations for Regenerative 

Agriculture” was held in India, Hyderabad. 

2. It has been organized by Bio Agri Input Producers Association (BIPA). 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

https://regenerationinternational.org/wp-content/uploads/2017/02/Regen-Ag-Definition-2.23.17-1.pdf
https://regenerationinternational.org/wp-content/uploads/2017/02/Regen-Ag-Definition-2.23.17-1.pdf
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And that’s why we asked third question (see theme). Every question is relevant here. Do 

practice regularly. In end, you won’t regret. Or else you keep joining crash courses till end 

achieving nothing.  

Just Daily Quiz here and our Test Series, rest is your basic preparation. 

Q85. Consider the following nations. 

1. Bhutan 

2. Nepal 

3. Bangladesh 

Which of the above nations shares same number of boundaries with India states? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: b 

Explanation: 

The Indian states that touch the border with Nepal are Bihar, Uttar Pradesh, Uttarakhand, 

West Bengal and Sikkim. 

Bangladesh shares border with five Indian states: West Bengal, Tripura, Meghalaya, 

Mizoram and Assam. 

Bhutan boundaries Indian states of Assam, Arunachal Pradesh, West Bengal, and Sikkim. 
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Q86. In the context of provisions of Indian Constitution, consider the following statements. 

1. Parliament by law decides about the number of Judges in Supreme Court and High 

Court. 

2. Both Supreme Court and High Court Judges resigns from office by writing under 

his/her hand addressed to President 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

 

Solution: b 

Explanation: 

Number of SC Judges are decided by Parliament by law and HC Judges are decided by 

President. See below both the cases: 
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From above images, first statement is wrong, and second statement is correct. 

In Supreme Court, Parliament by law decides about number of Judges but in High Court 

President decides. 

Q87. Lead is a highly toxic metal and a very strong poison. Which of the following are the 

sources of lead poisoning? 

1. Polyvinyl Chloride (PVC) pipes 

2. Paints 

3. Toys and Jewelry 

4.  Pencils 

Select the correct answer using the code given below: 

a. 1 and 4 only 

b. 2 and 4 only 

c. 1, 2 and 3 only 

d. 1, 2, 3 and 4 

Solution: c 

Explanation: 
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The National Green Tribunal (NGT) has directed the Centre to submit a report on 

standards of lead and to phase out lead as a stabilizer in Polyvinyl Chloride (PVC) pipes 

that are commonly used in most buildings. The NGT was earlier informed that water passing 

through PVC pipes commonly used in most buildings may contain toxic materials like lead, 

which has a hazardous effect on human health. While most of the organized manufacturers 

have started using alternative stabilizers such as zinc in PVC pipe-making, some of the small 

units still rely on lead due to the cost factor. The replacement of lead with zinc for stabilizing 

heat in PVC pipe manufacturing is likely to push up costs by 3-5 per cent. 

Lead is used in paint to add color, improve the ability of the paint to hide the surface it 

covers, and to make it last longer. Second  

Lead has been found in inexpensive children's jewelry sold in vending machines and large 

volume discount stores across the country. It also has been found in inexpensive metal 

amulets worn for good luck or protection. 

Point (4) is not correct: There is no lead in pencils. Rather, the core is made up of a non-

toxic mineral called graphite. 

Q88. Consider the following statements regarding Cash Management Bills (CMB). 

1. It’s a long- term instrument. 

2. It was introduced by to meet the temporary mismatches in the cash flow of the 

Government of India. 

3. It is issued at discounted price similar to treasury bills. 

Which of the above statements is/are correct? 

a. 1 and 3 only 

b. 1 and 2 only 

c. 2 only 

d. 2 and 3 only 

Solution: d 

Explanation: 

In 2010, Government of India, in consultation with RBI introduced a new short-term 

instrument, known as Cash Management Bills (CMBs), to meet the temporary mismatches 

in the cash flow of the Government of India. 

Features of Cash Management Bills: 

a. CMBs have a maturity of less than 90 days. 

b.  The CMBs have the generic character of Treasury Bills as the CMBs are issued at a 

discount and redeemed at face value at maturity.  
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For example, if the face value of a CMB is Rs 100, we can get the bill at Rs 97 and at 

the end of the maturity date, say 60 after days, we can get Rs 100. Here, there is no 

interest payment as the maturity period is so small. But the return for buying CMB is 

obtained in the form of a discount. 

c.  The tenure or maturity notified amount (how much total CMBs to be issued) and 

date of issue of the CMBs depends upon the temporary cash requirement of the 

Government. 

d. CMBs are eligible as SLR securities. Investment in CMBs is also recognized as an 

eligible investment in Government securities by banks for SLR purpose under Section 

24 of the Banking Regulation Act, 1949. 

Another similar method for the government to get short term money is Ways and Means 

Advances (WMA). Under WMA, the RBI gives temporary loan facilities to the centre and 

state governments as a banker to government for up to 90 days. 

What is the difference between CMBs and Treasury Bills? 

Difference between CMBs and Treasury bills is that CMBs are issued for less than 90 days 

whereas treasury bills are issue for more than 90 days (91 day and 364-day treasury bills). 

Q89. Consider the following statements. 

1. The idea of bronze sculptures flourished during the Cholas rule. 

2. Kalyanasundara Murti built during this period denotes the marriage of Vishnu and 

Lakshmi. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2  

d. Neither 1 nor 2 

Solution: a 

Explanation: 

The idea of bronze images came during the Pallavas, which flourished during the Cholas.  

A wide range of Shiva iconography was evolved in the Thanjavur (Tanjore) region of Tamil 

Nadu. The ninth century Kalyanasundara Murti is highly remarkable for the manner in 

which Panigrahana (ceremony of marriage) is represented by two separate statuettes. 

Shiva with his extended right hand accepts Parvati’s (the bride’s) right hand, who is 

depicted with a bashful expression and taking a step forward. 
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Link: http://ncert.nic.in/textbook/pdf/kefa107.pdf 

Q90. With respect to the Indian national movement, consider the following pairs. 

              Organization   Leader associated 

1. Communist Party of India M.N Roy 

2. Indian Socialist Labour Party S. A Dange 

3. Labour Kisan Party Muzaffar Ahmed 

 

Which of the above pairs is/are correct? 

a. 1 only 

b. 1 and 2 only 

c. 1 and 3 only 

d. 2 only 

Solution: b 

Explanation: 

              Organization   Leader associated 

1. Communist Party of India M.N Roy 

2. Indian Socialist Labour Party S. A Dange 

3. Labour Kisan Party S. Chettiar 

4. Labour Swaraj Party Muzzafar Ahmed 

 

 

 

http://ncert.nic.in/textbook/pdf/kefa107.pdf

